
DOUBLE SLIDING DOOR
SINGLE RAIL 

MACHINE GUARDING

88754646 ver. 002 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36905530

1/6

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D



Kit 369055302/6 www.troax.com

Kit Bracket SMF 36700074

Kit Sliding Door 36905530

Troax sign 89200000

x2

x2

x1 x2x4
60x4060x40

x6
60x40

x4 x2 

M8x28 20/30

Kit Double sliding door single rail 36905530

x1 x2 x4

x8 x6 x1 x4 x4 x5 x2 x6 x4x15

x2 x2x4

Bag for kit 5530 88695530    

62 mm 3 mm 3 mm

M8x12 M8x35 M8x35 M6x25 M8x20 M8 18x9x4 M8 6,4x12x1,6

ST20

A
rt

 n
o

: 8
87

54
64

6 
ve

r. 
00

2

2

Ø10 17 6 513

(7 mm)



www.troax.com Kit 36905530 3/6

1

3

8 9

6

2

4

Kit Sliding Door + Kit Bracket SMF

Kit Sliding Door + Bag for kit 5530

Kit Bracket SMF Kit Bracket SMFKit Bracket SMF

Kit Bracket SMF

Kit Sliding Door + Bag for kit 5530

M8x12

M8x12

A
rt no

: 88754646 ver. 002

5

7

M6x25 6,4x12x1,6

M8x28
M8x28



10 11

Kit Sliding Door + Bag for kit 5530

M8x35 M8x35M8 M818x9x4

14

Kit Bracket SMF

15 16 17

Kit Sliding Door + Bag for kit 5530

M8x35 M8x35M8 M818x9x4

Kit 369055304/6 www.troax.com

A
rt

 n
o

: 8
87

54
64

6 
ve

r. 
00

2

12

Kit Bracket SMF

13

Kit Bracket SMF

M8x28 M8x28



M8x20 M8

www.troax.com Kit 36905530 5/6

A
rt no

: 88754646 ver. 002

18

Bag for kit 5530Bag for kit 5530

A

B

C

D

> 3000
Bag for kit 5530

19 20

21Bag for
kit 5530

Bag for
kit 5530

Bag for
kit 5530

ST30ST20

ST30ST20

22

24
ST20

23



25

Bag for kit 5530

26

Bag for kit 5530

30

Troax Sign

Kit 369055306/6 www.troax.com

A
rt

 n
o

: 8
87

54
64

6 
ve

r. 
00

2

27

28 29


